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1. Simplify each of the following, giving your answer in positive index. -
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2. Write down the next two terms of the following sequence.
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3. y s directly proportional to x and y = 60 when x = 20, find

1) the equation connecting x & y.
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111) the value of x when y = 18.
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4. vy is inversely proportional to x and y =100 when x = 10 find

1) equation connecting X & .
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i1) value of y when x =5

200 2

i) value of x when y = 50
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5. y s inversely proportional to x. Find the value of a and b.
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a=_ o b= 4-4[7]

6. The number of days (d) required to renovate a house is inversely proportional to the
number of workers (w). When 6 workers do the job, the renovation takes 8 days.
How many workers are needed to complete the job in 12 days?
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7. The variable x & y are connected by the equation y = k+/x+1, where k is a constant.
Find pand q

24 15 J q

'\" o |
.
B,
¥
o G
-
-
i

p=24,q9=_9  [10]

.y is directly proportional to k(x+2)(x+7) & y =4 when x = 1.
Find y when x = 5.
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L 234
9. The first 4 terms of the sequence are 21, 25, 29,33
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a) Find the formula for the n term of the sequence

Gn+it7 [4]

b) Find the value of the 20™ term of the sequence.




